Ioz <O>M<c>v<c>x x<o

@Yy SThy ) B0 & s & D g 119 gplis

Bt blg §)5 jall Pf 8oLl gass -

£99) £96 2 oS 8l &0 2 -
SogDas pad 1YY HMILS

8ob) pies 29 yaiams Sl -

dwolgill
() 0567630097 (%) 0565657741

mrahmedmahdy.com 0567630097 - 0565657741 - Jiss ARG

NN AN AN AN AN AN NN NN

Q e O

Q e O

e O




v
4

Y e N N e N e e W N e Ve e VS Ve Ve
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Assignment No (2)

Analysis of Statically determinate beams

1. Calculate the support reactions for the loaded beam shown below, and then draw
SFD & BMD
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2. Draw the shear and moment curves for the uniformly loaded beam in Figure
below.
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3. Determine the support reactions for the loaded beam shown below, and then
draw SFD & BMD
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3. Plot the shear and moment curves for the inclined beam in Figure below.
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